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1. mat_bezier4=: 1 0 0 0,_.3 3 0 0,3 _6 3 0,:_1 3 _3 1 NB.Cubic BezierMatrixForm
2. calc_bezier4=: 3 : ’(|: mat_bezier4 +/ . * y)&. " O steps 0 1 20’

3. form_bezier =: 4 : ’(}: tmp), L:® }.{. L:0 tmp=.(- <: x)<\ y’

4. calculus_bezierd4 =: [: ;("2)@,. calc_bezier4(L:0)@form_bezier4
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1.1 Cubic Bezier Curve

400000000 300000000000 CubicODOODDODOODOOOODOOOOD 400000
oono

0000000000 4000000 Py,P3O00D00OOOO

Po = [Xo,Yo]
ControlPoints: -t = Dayil
P2=[X,Y2]
P3 = [X3,Y¥3]

goboboooboon
*1

3 = (3o -y
= ()ea-v
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toooooo[o,1]000U00o0ooUoOoOo30U00oon

Bo() = (1-1)°
Bi(t)= 3(1-1t)
By(t) = 3(1-1t)t?
Bs(t) = t3

BernsteinCubics

coooooooo

Beziet) = Bo(t)Po + B1(t)P1 + Ba(t)P, + Bs(t)Ps

Bezie(t) = (1 - t)3[xo, Yo] + 3(1— t)%t[ X1, y1] + 3(1 — O)t?[ %o, Y2] + t3[Xa, y3]
Bezie(t) = [x(t), y(t)]

X(t) = Xst® + 3%t? — 3xt3 + 3xqt — 6x1t% + 3x:t5 + X — 3ot + 3xot? — Xot®

X(t) = Xo + (—3Xo + 3x0)t + (3%0 — 6X1 + 3x)t2 + (—Xo + 3X1 — 3% + X3)t2

gobooboobogoo

Co 1 0 O Xo Xo
. . e -8 3 0 O] _ —=3X%o + 3X1
BezierMatrixForm: o= AX = 3 6 3 0llx|” 30 — B%g + 3%
C3 -1 3 -3 1)\x3 —Xg + 3% — 3% + X4

X(t) = Cg + Cit + Cot? + cat®
y(t) = yat® + 3yst? — 3yot® + 3yst — Byst? + 3yat> + yo — 3yot + 3yot® — yot®

y(t) = Yo + (=3yo + 3yt + (3yo — 6y1 + 3y2)t? + (—Yyo + 3y1 — 3y2 + )3

do 1 0 0 Yo Yo
. . _ d]_ _ _ -3 3 0 0 Y1 _ _3y0 +3y1
BezierMatrixForm: d| = AY = 3 -6 3 0|y~ 3y0 — 6ys + 3y
ds -1 3 -3 VUlys) \-Yo+3y1-3y2+V3

y(t) = do + dlt + dztz + d3t3

oooooooooon

Bezie(t) = [x(t), y(t)] = [Co + Cut + Cot? + cst®, do + dht + dot? + dst?]

*2

*2
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1. Example 1 B, Py, Po, P3

’line, marker’ plot {@|: LO

pd ’eps c:/temp/besier_LObase.eps’

Lo
Xy
01
12
2 2
31

2. Bezier Matrix

mat_bezier4=: 1 0 0 0, _ 330 0,3 _6 3 0,:_13 _3 1 NB.Cubic BezierMatrixForm

mat_bezier4

1 0 00
3 3 00
3 6 30

e BernsteinJ OO (300)00000D0DO0OODOOOO

i =(3)i@-p*
= ()ia-v

Jo) = (@1-t° = 1-3t+3°-¢

Jaa(t) = 3t(@-1)2 = 3t-62+33

Jaa(t) = 3t2(L-t) = 3t2 - 33

Ja3(t) = t3

e I000O0DDOODDDODO 30=40000)DJOO0DOOODODO
3 2
% S S S PV %o
. . C1 1 0 0 0 X1 —3X%p + 3X1
BezierMatrixForm: =AX=(-3 3 0 0 =

C 3 6 3 0 Xo 3Xg — 6X1 + 3%2
C3 1 3 -3 X3 —Xo + 3X1 — 3X2 + X3




21 3 31

3. 0000 xyoooooo

mat_bezier4d +/ . * LO

x(0),y(t)
0 1 X(t) = 3t
yit) = 1+3t-3t2

e @ w
|
@ w w

4. x),y)DOOOODDOOO (x,y)DOOOOODOOODO
JO p.0000OO300000000t0000O[0,A]000 stepsi 00000

0 3&. ,. 13 _3&. )steps 0 1 10

0 1
0.03 1.27
0.12 1.48
0.27 1.63
0.48 1.72
0.75 1.75
1.08 1.72
1.47 1.63
1.92 1.48
2.43 1.27

3 1

5. Beziero OGO OO

o Po,P1,P,,P;000000 Po,P,OODO
000 P,P, 00000000000 (=000000O)00000O0O

e Po, P 0000000 OOODOOOONO P
PLP,000O00O0DOPS
P,,P; 000000000O00D0OOOPe

e PO PgRUOOOOOODOO PpbOOODO
PeO PcOOODODOOOO PeOODODO
o0 PeODO0O0OOODO PEOOODOOO FOOOODODOOOOOO@O 7000)

0000000 P,P, 0000000000 DOODOOODOOD



e Example 2

L1

BN =R
N D W =

mat_bezier4 +/ . * L1
1

R @ w

6
3
2

x(t) = 3t + 3
y(t) = 1+ 6t — 3t2 — 23

e Example 3

L2
01
31
2 4
4 2

mat_bezierd +/ . * L2 L TN :

x(t) = 9t — 1242 + 7t3
y(t) = 1+ 9t2 - 8t3

e Example 4



L3

01
4 2
2 4
10

mat_bezier4 +/ . * L3
o 1
12 3
_18 3
7 _7

x(t) = 12t — 182 + 73
y(t) =1+3t+3t3 -7t

1.3 Script

CubicBezied OO0 O0ODODOOODODOOODOODO

mat_bezier4=:1 0 0 0,_3 3 0 0,3 _6 3 0,:_1 3 _3 1 NB.Cubic BezierMatrixForm

00000000 SeriptD0000O000O00OODOOO

calc_bezierdpl=: 3 : 0

tmpO®=. |: mat_bezierd +/ . * vy

fx=. ({. tmp®)&p.

fy=. ({: tmp®)&p.

fx0 =. fx steps 0 1 20 NB. divede [0,1] for smooth Bezier curves
fy® =. fy steps 0 1 20

£x0, . fy®

)

000000000000000000000f(x),f(yy0OOOOO



calc_bezierd4=: 3 : ’(|: mat_bezierd +/ . * y)&. " O steps 0 1 20’

1.3.1 J Grammar
e 10000 O0D0OUDODOO (x)0D0DUDDOOOUDOOO2x4000000
3.6 3606,:_13_31
e +/ . * OODOO
e |: transposél 0000000 000DDOODOOODOOO

| : mat_bezier4 +/ . * LO
3 00 NB. f£fx= 3t
13_3090 NB. fy=1+3t-3t"2

e p.00D0D00OODDODDDODDO )OODDDDOOOODOfxyD f(X),f(yyoOoOoOooOoOoGO
e stepsUO [0 1] OnOOOOOnumericijs00O00o0onOn

(|: mat_bezier4 +/ . * LO) &p."® steps 0 1 10

0 1
0.3 1.27
0.6 1.48
0.9 1.63
1.2 1.72
1.5 1.75
1.8 1.72
2.1 1.63
2.4 1.48
2.7 1.27

3 1

e 00" 160 000UDOILOUDULOD XODOU fyOOOUDOODOODOO
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1.000000000000000000000000000000 Pg, P3,Ps,Py,--- 0000
400000000000 1000000000000 OOO0O00OOOO0O00ODOOO00DOODOOO



000000 20000000000000000000000OCOOO 700000000000
00

RANOJIO
(1.5 9) NB. PO
3 8.8
1.8 8
(1.8 7) NB. P3
2.2 5.5 T
3 5
(3.5 6.8) NB. P6 il
11
5.5 o
(4.2 4) NB. P9
1.5 3 A
4.5 7.5
( 4 2.8 L
3.8 2.4
2.9 1.8
C 3 1.5 T ! ! I ! ! } i
3.1 1.1
3.5 0.8
( 4 0.5)

JOooo0o0oooooooooooooooooooooo
RANOQJIOO O OOOOOODOODODODODO0OOOOOOOO0O0OO0DOO0ODODDOODOOO0OO0OOOOOOO
coooogooo

NB. Hokusai No29 O00O0O

RANOJIO®=: (1.5 9),3 8.8 , 1.8 8 ,(1.8 7),2.2 5.5,3 5 ,:(3.5 6.8) NB. 0/1/2

RANOJIO®=: RANOJIO, 6 11,8 5.5 ,(4.2 4),1.5 3 ,4.57.5 ,:(4 2.8) NB. (2)/3/4/5
RANOJIO®=: RANOJIO, 3.8 2.4 ,2.9 1.8 ,(3 1.5), 3.1 1.1, 3.50.8,: (4 0.5 NB. 6/7

. JO calculusbezierdDOO U 4000000000000000DO0O0DOOOOUOOOOOOODOO
ooo



4 form_bezier RANOJIO
Fommm - oo Fommm o Fommm o Fommm o Fommm o +
[1.5 9/1.8 713.5 6.8]4.2 4] 4 2.8] 3 1.5]
| 3 8.8/2.2 5.5|] 6 11|1.5 3]3.8 2.4|3.1 1.1}
[1.8 8] 3 5] 8 5.5]4.57.5/2.9 1.8[3.5 0.8]
1.8 713.5 6.8]4.2 4] 4 2.8 3 1.5| 4 0.5]

Fo—mm - Fo—mm - Fo—mm - Fo—mm - Fo—mm - Fo——m - +

4. form.bezierd Script
form_bezier =: 4 : "(}: tmp), L:0 }.{. L:0 tmp=.(- <: )<\ y’
JOODOOOO0 infixOOOOOOODO0OoOoO0ooO00 (-3<\)000oooooooooooooog

gooo
_3<\i. 20 2
R +-———- +-———- +-———- +-———- +-———- +

[0 1] 6 7|12 13|18 19|24 25|30 31|36 37|
[2 3] 8 9|14 15[20 21|26 27|32 33|38 39|
[4 5|10 11|16 17|22 23(28 29|34 35| |

Fom—tmm - +-m——- e +--—-- +--—-- +---—- +

5. CubicBezied D0 0400000000000000O00
calculus_bezier4 RANOJIO

calc_bezierd4=: 3 : ’(|: mat_bezierd +/ . * y)&. " O steps O® 1 20’ NB. basement

calculus_bezierd4=: 3 : ’;("1) calc_bezierd (L:0) 4 form_bezier y’ NB. long data

3 Joooooooon
31 ODO0O0OO0O300b000booon

oooo00 3000 3000000000000 000000000000O0O0O00 300000000
000o0ooO0o0oooO00ooO0ooo0o0ooOO0o0oO 30000000000 LOoOOo0DooOOOn
0000000000000 000000000O00O000000000O0000OO0O00 30000000
0000oo0o00oo 3000000000 ooo00DoOo0o0oooO0o0ooOOo0o0oODOOoOoDooOOOn
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0o oo goooooooo gooo
oa
3 2 (a+b+c=a+b?+c?
! +2ab+ 2ac+ 2bc
2 2
1 2
4 3 (@a+b+cP=a+b3+c
! +3a%bh + 3a%c + 3ak?
3 3 +3b%c + 3ac? + 3bc?
+6abc
3 6
1 3 3 1
5 4 (a+b+co*=a*+b*+c*
! +4a%h + 4a%c + 4ab?
4 4 +4b%c + 4ac + 4bcE
+6a2h? + 6a2c? + 6h2c?
6 12 6 5
+12a?bc + 12ak?c + 12abc?
4 12 12 4
1 4 6 4
6 5 (a+b+o=a+b°+c
1 +5a%b + 5a*c + 5ab?
+5b%*c + 5ac* + 5bct
5 5 +10a3b? + 10832 + 10032
3 2~3 23
10 20 10 +1003c? + 10a2¢® + 10b%c
+20a3bc + 20abc + 20abc
10 30 30 10 +30a2b2c + 30a2b + 30ab?c?
5 20 30 20
1 5 10 10 5

11




*3

3.2 CubicBezierOQOQOQOO

20 B0000)00OUOO0 2000010 (20000)0000O0(UO)0DCO0OUDOCOOUDOO

B(t) = (1-1t)((1-1t)Po+tPy) +t((1—t)Py + tPy)
= (1L -1)%Py + 2t(1 - t)Py + t°P,

30(0000)00000 3000020 (@0000)0000000000000OOO0
B(t) = (1-1t)((1-1)%Py+ 2t(1 - t)Py + t2Py)

+t((1 - t)2Py + 2t(1 - t)P + t2P3)
= (1-1)3Py + 3t(1 — t)2Py + 3t3(1 — t)P, + t°P3

oooooooooooboooboooooooooooooobooobooooonoag

3.3 00000 CubicBezierOOQOOoQonO

gobooboboobooboboooboobooobooboboobobuoobobooobuoobbooboon
god

1 ]

1. BernsteinO O 0O O Script

b3_0=: ("&3@-.);(3&"* * "&2@-.);(*&3@"&2 * -.);"&3 NB. Bernstein formula
NB. (1-t)"3 3t(1-t)"2 3t72(1-t) t°3
J Grammar
e 00000 DDODOD 40000000000 0ODDODOO0ODDOOODODDO tacitDO O
oo

e /-/(1-H)0000O0ODO
e /&@D0000000000000000DOO

000004000 (a+b+c+d™0400000)0000000000

12



2. BernsteiD OO0 t(=steps0110p 00 OOO [0,1]000000O0O0O0O0UOO 10000

(steps 0 1 10), ;"1 ,. b4_0 steps 0 1 10

6 0.1 0.2 6.3 0.4 0.5 0.6 0.7 0.8 0.9 1 NB. steps 0 1 10
10.729 0.512 0.343 0.216 0.125 0.064 0.027 0.008 0.001 0 NB. (1-t)"3

0 0.243 0.384 0.441 0.432 0.375 0.288 0.189 0.096 0.027 0 NB. 3t(1-t)"2

0 0.027 0.096 0.189 0.288 0.375 0.432 0.441 0.384 0.243 0 NB. 3t 2(1-t)

® 0.001 0.008 0.027 0.064 0.125 0.216 0.343 0.512 0.729 1 NB. t"3

3.000 (30)0000O Script

b3=: 3 : 0

t0=.;"1 ,. b3_0 steps 0 1 10
+/ t0 * "0 1y

D)

4. 000040000 Po,P,P,P; 0000000000000 0O0OOOOOOOOOOOOOODO

LO®; (b4 LO); calc_bezier4® LO

Fommmm o Fommmmm +
[0 1] ® 11 0 1| NB. P1
[12]0.3 1.27]0.3 1.27]
[2 2]0.6 1.48|0.6 1.48]
[3 110.9 1.63]0.9 1.63]
| [1.2 1.72]1.2 1.72]
| [1.5 1.75]1.5 1.75]
| [1.8 1.72]1.8 1.72]
| [2.1 1.63]2.1 1.63]
| [2.4 1.48]2.4 1.48]
| [2.7 1.2712.7 1.27]
| | 3 1] 3 1| NB. P3
Fommmm o Fommmmm +

b3_long=: 3 : ’;"2,. b3 (L:0) 4 form_bezier_all y’

13



4 CubicOODODOOOOOOOOOOO
41 30000 (0O)000000O0O0O

0000000000 300000oO0o0oO0oO0ooOoOoooooo
BersteinD OO OO 2000000

(1-1)? 1-2t+1t2
2t(1-t) = 2t-2t2
t2

1 0 O
-2 2 0
1 -2 1

mat_bezier3
1 00
2 20
1 .21

3 plot_bezier® 0 1,1.5 3.5,: 4 2

pd ’eps c:/temp/besier_t3.eps’

42 40 (50000)000000

1.00000oooooo

1-1)* — 1-4t+6t2-43+1t
a(1-1)° - At-12A2+ 123t
6t?(1-1)? — 6t — 1213 + 6t*
43(1-1) - 413 — 4t
t4

2. BernsteinFormurdA 000 tO0O0 0000000

b5_0=: ("&4@-.);(4&* * "&3@-.);(*&6@"&2 * "&2@-.);(*&4@°&3 * -. ); &4

(1-t)"4 4t(1-t)"3 6t°2(1-1)"2 4t°3(1-t1) t°4

3.400000000000

14



mat_bezier5s

1 0 0 00
4 4 0 00
6 _12 6 00
4 12 12 40
1 4 6_41

4.2000000

(b5 LO,4 0),. (|: mat_bezier5 +/ . * LO®, 4 0)&p. " O steps 0 1 10
0 1 0 1 NB. PO
0.4 1.3401 0.4 1.3401
0.8 1.5616 0.8 1.5616
1.2 1.6681 1.2 1.6681
1.6 1.6656 1.6 1.6656
2 1.5625 2 1.5625
2.4 1.3696 2.4 1.3696
2.8 1.1601 2.8 1.1001
3.2 0.7696 3.2 0.7696
3.6 0.3961 3.6 0.3961
4 0 4 0 NB. P3

5 plot_bezier® O 1, 13, 1.5 4.5,3 5 ,: 4 %
pd ’eps c:/temp/besier_t5.eps’ !

43 20000 (100)00O0

200000000000000000000O0DODODOOOOOOOU0O00O00D0D0D0OOODOODODOOOOO
gooon

l.0ooooooooo

15



(1—t)+t=(_11 2)(;)

2. 000000000

mat_bezier?2
10
11

44 50 (60000)000000

BernsteinD OO 0000000000000 O0O00OOOOOOOOOOO S500000000000
gbooooooooooboo

l1.00000000000

1-5t+102 - 1083 +5t4 - t°

(1-1)° -
5t(1-t)* —  5t- 20t + 303 — 20t* + 5t°
102(1-t)® — 102 — 303 + 30t — 105
10831 -1)? — 1083 - 20t* + 105
-

5t4(1 - t) 5t4 — 5t°

t5

2.500000000000

mat_bezier6

1 0 o0 ©
S5 5 0 ©
10 _20 10 O
_10 30 _30 10
5 _.20 30 _20
_1 5 _.10 10

v V1 @@ @
@ @ @ @ o

3. plot

16



6 plot_bezier® L1,4.5 3

pd ’eps c:/temp/besier6t.eps

45 0DO0O0O00O0O Script

,:5 0

1.000000000 (1,2,3,4,50)

NB. ---0.----BezierMatri

mat_bezier4=: 1 0 ® 0,_ 3 3 0 0,3 _6 3 0,:_1 3 _3 1 NB.Cubic BezierMatrixForm

mat_bezier3=: 1 0 0 , _2
mat_bezier2=: 1 0,: _1 1
NB. ---——-- 5/6 is Kato’s
mat_bezier5=: 1 0 0 0 0

mat_bezier6=: 1 0 0 00 0, 550000,
6, 5_20 30 20 50,: _15_10 10 _51

mat_bezier6=: mat_bezier

2. 00000000000

xForm-------------------—--"--

20,:1_21

NB. bezier2 is linear & divide[® 1] by steps

44000, 6_12600

412 _12 40,:1 _46 _41
_10 30 _30 10 0 O

10 20 10 0 0 0 ,:

20’
20’
20’
20’
20°

NB. ----1 calc single 2/3/4/5/6 points bezier---------------
NB. midify steps yourself e.g. stepd (0 1), 100
calc_bezierd4=: 3 : ’(|: mat_bezierd +/ . * y)&. " O steps 0 1
calc_bezier3=: 3 "(]: mat_bezier3d +/ . * y)&. " 0O steps 0 1
calc_bezier2=: 3 : ’(|: mat_bezier2 +/ . * y)&. " 0O steps 0 1
calc_bezier5=: 3 "(]: mat_bezier5 +/ . * y)&. " 0O steps 0 1
calc_bezier6=: 3 (] : mat_bezier6 +/ . * y)&p. " O steps 0 1

. 0opoopooOooOoOoOoOoOoOoOoOoOooooo
NB. --2---main calc Bezier long data---------------=---—--———————~
calculus_bezier4=: 3 : ’;("1) calc_bezierd (L:0) 4 form_bezier y’

17




calculus_bezier3=: "5 ("1) calc_bezier3 (L:0) 3 form_bezier

3
calculus_bezier2=: 3 75 ("1) calc_bezier2 (L:0) 2 form_bezier
calculus_bezier5=: 3 : ’;("1) calc_bezier5 (L:0) 5 form_bezier
3

calculus_bezier6=: "5 ("1) calc_bezier6 (L:®) 6 form_bezier

46 DOO0OOODOODOOO

goooooooo Cubic(4|:||]DIZI)IZII]DDDDDDDDDDDDDDDDDDDDDDIZIDD[IDD
go0o0oo0oo0ooOoo0oooo0oooooo0oooooooooooooOooOooboobooboobooboooa
000000 mixedformbOoO4OdoOOd

L4=:10,4251,44,57,64,.76
4 3 5 plotbeziermix L4

-

e JOODOOOOODOODO

4 3 5 form_bezier_mix L4
oo+
[® 113 1[5 1|
[12]4 2|4 4]
[2 2|5 1[5 7|
I3 1] 16 4|
I 17 6]

e mixformO OO OOO
1. form_beziermix
2. calc_beziermix

18



3. calculusbeziermix
4. plot_beziermix

19



00 A isigraph0 00000000

00000000 C.ReiterD dwinO OO0 O0OO0OO0OO0OO0O0DOOOOOO0OOOOOOOOOOOJOOO
000 50000000000000000000000UO0O0OUOOO0OUOOOOUD JO isigraph
0000000000000 000000000000000000000000000 Script000OO

1. isigraph0 0000000000
e 00 (DO)ODODO (0,0
e 00O (1000,10000 20000
o JIUIIOOOOOOOODODDOODDODDOOOOODODO
2. isigraph0 00000 (200x 20000 DO OForm Editor0 00000000 O0OOO0OO0OO0OOOOOOO
god

HOKUSAIO=: O : O

pc hokusai®;

xywh ® ® 200 200;cc hokusai® isigraph;
pas 6 6;pcenter;

rem form end;

)
3.isigraph0 0000

draw_hokusai=: 4 : 0

"tmp® tmpl’=. x fit_bezier_screen vy
NB., - - -
glrgb ® 0 255

glpen 2,PS_SOLID

gllines , tmp®

glrgb 255 0 O

glpen 2,PS_SOLID

gllines , tmpl

glpaint ’’
)

4. 0000000000x0O000000000O000O001pl=A00000000000

rotx®=: (1:,0:,0:), (0:,cos, sin),:(0:,-@sin,cos)
rotx=: 3 : " }:"1 (y,.1) +/ . * rotx® 1pl’

20



1 0 0
0 cos sin
0 -sin cos

5.0000000000000000O0DOO000ODOO0O0ODOO

4 hokusai®_run RANOJIO

References

compose_bezier_rotx=: 4 : 0
NB. compare bezier origin
tmpO=. rotx y
tmpl=. rotx x calculus_bezier y
sign=. * +/ min=. ({:<./ tmpl ) ,{:<./ tmp®
if. _1 = sign do.
min=. <./ min
tmpO=. (0,- min) +"1 tmp®
tmpl=. (0,- min)+"1 tmpl
end.
tmp®; tmpl
)

minmax=: <./ ; >./

fit_bezier_screen=: 4 : 0

“tmp® tmpl’=: x compose_bezier_rotx y
NB. SCREEN=: 200 200

tmp2=. minmax tmpl

SIZE=.>./ ({: tmpl) - >{. tmpl
TIMES=: +: >. 100 % SIZE
ROCATION=:2# 100- TIMES

(ROCATION +"1 TIMES * tmp®); ROCATION +"1 TIMES *

)

http://kinetigran.com/mck/Calculus/BezierCurves/BezierMatrix.html
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